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Run with N = 75 and sigma from 0 to 5.75 averaged over 100 runs
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Individual run with N = 75 and sigma = 0 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 0
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Individual run with N = 75 and sigma = 0.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 0.25
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Individual run with N = 75 and sigma = 0.5 averaged over 100 runs



−0.2 0 0.2 0.4 0.6 0.8 1 1.2
0

10

20

30

40

50

60

70

80

90

100
Histogram of end velocity with N = 75 and sigma = 0.5
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Individual run with N = 75 and sigma = 0.75 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 0.75
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Individual run with N = 75 and sigma = 1 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 1
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Individual run with N = 75 and sigma = 1.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 1.25



10 20 30 40 50 60 70 80 90 100
0

0.2

0.4

0.6

0.8

1

Individual run with N = 75 and sigma = 1.5 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 1.5
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Individual run with N = 75 and sigma = 1.75 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 1.75
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Individual run with N = 75 and sigma = 2 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 2
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Individual run with N = 75 and sigma = 2.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 2.25
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Individual run with N = 75 and sigma = 2.5 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 2.5
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Individual run with N = 75 and sigma = 2.75 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 2.75
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Individual run with N = 75 and sigma = 3 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 3
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Individual run with N = 75 and sigma = 3.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 3.25
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Individual run with N = 75 and sigma = 3.5 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 3.5
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Individual run with N = 75 and sigma = 3.75 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 3.75
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Individual run with N = 75 and sigma = 4 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 4
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Individual run with N = 75 and sigma = 4.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 4.25
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Individual run with N = 75 and sigma = 4.5 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 4.5
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Individual run with N = 75 and sigma = 4.75 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 4.75
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Individual run with N = 75 and sigma = 5 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 5
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Individual run with N = 75 and sigma = 5.25 averaged over 100 runs
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Histogram of end velocity with N = 75 and sigma = 5.25
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Individual run with N = 75 and sigma = 5.5 averaged over 100 runs



−0.2 0 0.2 0.4 0.6 0.8 1 1.2
0

10

20

30

40

50

60
Histogram of end velocity with N = 75 and sigma = 5.5
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Individual run with N = 75 and sigma = 5.75 averaged over 100 runs



−0.2 0 0.2 0.4 0.6 0.8 1 1.2
0

10

20

30

40

50

60

70

80
Histogram of end velocity with N = 75 and sigma = 5.75


